LOGARITHMIC AND EXPONENTIAL EQUATIONS

Exercise 1: Work out:

a) log,(x+3)=3
b) log,(3x+1) =2

c) log,(1-x)=4
d) log;(x—2)=-1
e) 2log(x—5)=3

Exercise 2: Work out:
a) logx+log20=3
b) log,(x+5)—log,(x—2)=1
c) logx+log(x+1)=1logl2
d) log(x+4)=1-log(x—5)
e) logx—1=log(22—x)

Exercise 3: Work out:
a) 2log,(x—-1)=log,(3x+1)

b) logx+log(x+3)=2log(x+1)

c) 2log,(x—1)=log,(x—3)+log,(2x-2)
d) logx” =log6+2logx
g)2logx=log(x—16)+2

f) 31ogx—1ag3z=1c.g§

g) 2logx+2=1og(4x)
h) 2logx—-2log(x+1)=0

Exercise 4: Work out:
a) log(x+5)+log(4x—-10)=3
b) log(3x+5)—log(2x+1)=log6—logx
c)ln(x—N+n(x+D=n3+In(x-1)

d) log2 +log (x—3) =log (+/2x)



Exercise 5: Work out:

a) 557 =125

¢) 4% =128
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Exercise 6: Work out:
a) 3521 _ g
b) 7ei-1024d _ g
o) l-3x _ 4253
d) 2:-‘-:-1 — gl
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Exercise 7: Work out:

a) 7" =14
C} 5x+] — 2
E‘} 4:—:-' =?2—r

Exercise 8: Work out:
a) 2" 42" =24
b) 3* +3* +3* =39
c) 9rsd _grl g _ g
d) 3* 437 +31 =13
e) 271 25 1271 =224

Exercise 9: Work out:
a) 3 -23"-3=0
b) 2¥ +6=5-27
c) 4 +16=10-2*
djo*+18=11-3°

b) 577 =32
d) 92 =327

f] 3:3-14 =L
243

b) 3" =5

d) 37 =5
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